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Important Question for SSC CGL 2017 By Alok Sir

If 10 people can do a job in 20 days , then 20
people with twice the efficiency can do the
same job in

gfe 10 =afw fedt &M &t 20 a7 & &Y g&hd &
%ﬁiﬁmmﬁzowﬁsmmaﬁﬁmﬁﬁwﬁ{n
?

(a) 5days (b) 10days (c) 20 days (d) 40 days
ABCD is a quadrilateral in which BD and AC
are diagonals then

ABCD t& =g4« 8, /W BD 2it AC faavf &, @t
(a) AB+BC +CD + AD<AC + BD

(b) AB+BC +CD + DA >AC + BD

() AB+BC+CD+DA=AC +BD

(d) AB + BC + CD + DA > 2(AC + BD)

Two consecutive discounts x% and y% is
equivalent to the discount

x% 3 y% & HwAaR ge Frafafaa & @ fea ge @
T E ?

Y Y
(a)(x— + 9 g (b)(x+ + 9 g
Y1001 Y1001

3y 3y

xy xy
(c)( —y- % (d( +y- L 9
YTV 1000 NE+Y =100, %

A box of sweets was distributed between A and
B in the ratio 3 : 4. If A got 36 sweets, what was
the total no. of sweets

& ToTg &1 fean A X B & o9 3: 4 & o/uE o
FieT T4 | AT A Hi fHSTE & 36 THsS fact & Taetg &t
FA & 4T oi?

(a) 12 (b) 84 (c) 144 (d) 27

If the ratio of cost price and selling price is 4 :
5, then the percentage of profit will be

i %F Toa iR faha Toa § 4 : 5 &1 U & @
N fa9Ta sargu?

(a) 20 (b) 0.1 (c) 10 (d) 25

If the value of a company stock drops from Rs.
25 per share to Rs. 21 per share, the percentage

decrease per share is
Ife fet wIt & =T & Ied & 25 T 9T & iR
4 uf S % gew &

F ® 21 T SR & T
e wfave = fiimee g8 &2
(c) 12 (d) 16
A farmer travelled a distance of 61 km in 9

(a) 4 (b) 8
hours . He travelled partly on foot at a speed of

10.

11.

12.

13.

4 km/hour and partly on bicycle at a speed of 9
km/hr . The distance travelled on foot is

T& feaM 3 9 g2 o 61 T, Wt &t 9B &t afg s
FT A 4 T, W /9eT ® THER @ 9T a9 & & 3R
FO 961 9 fh.°t / gver # TR | AEied 50 a4
&1 g, @ 3T Thaet I dee &t ?

(@)14km (b)16km  (c)20km (d) 18 km
If2x - y)2 + @3y - 22)% = 0, then the ratio x:y: zis

g (2x -2 +By-22)2 = 0 T @ azy:z & AJUE
A it ?

@1:3:2 B1:2:3 (¢3:1:2(d)3:2:1

If “4a-32%2=0, then the
64a® - 48a? +12a +13 is

T (4a-3)% = 0 & @ 64a - 48a2 +12a +13 T
U= 13T ?

(a) 0 (b) 11 (c) 22 (d) 33

In the fig AABC is inscribed a circle with
centre O. If /ABC = 30° then ZACB is equal to
feu o fem & Brys ABC 1 U@ g« gt & fog
O % 3I0& o o T g1 R Ak @
ABC= 30° @, @ ®IUT ACB T UH 2T ?

A

value of

GA\
N
(a) 30° (b) 60° (¢)50° (d)90°
Three consecutive angles of a cycle

quadrilateral are in the ratio of 1:4 : 5. The
measure of fourth angle is

TS Toh1g aq & wile R0 1:4:5 H 81 =9 &ior
T AT §AT3T?

(a) 120° (b) 60° (¢)30° (d)80°

The value of cos? 20° + cos? 70° is

cos? 20° + cos? 70° &1 A FaATFU?

(@) 0 (b) 1 © % @1/3

Nine students of a class contribute a certain
sum of money. Seven of them gave Rs. 50 each
and the other two gave respectively Rs. 50 and
Rs. 90 more than the others. The average
contribution of the class of 9 students is
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14

15.

16.

17.

18.

19.

20.

Tt e W 9 B $B YT & INEH S & 30 6 7
mﬁﬁmﬁmaﬂw&m%aﬂ?ma‘mﬁ
9 BT T iU U 3frea e | HU: ® 50 R ®
90 3T 2 81 FHYT H THt 9 BEI & AT AREH
JATZT?

(a)Rs.70  (b) Rs. 50 (c) Rs. 100 (d) Rs. 120
If a = 101 then the value ofa(a2—3a+3) is

g a = 101 &, M ala? - 3a + 3) & AA FABY ?
(a) 1000000 (b) 1010101
(¢) 1000001 (d) 999999

2 _
If x = 2+ /3, then the value of xoxtl is

x“+x+1

T | ST |

-x+1

g x=2+/3 |, @roxel

x“+x+1

(@)L b3 0 @2
3 4 5 5

In AABC, /B=35°, /C = 65° and the bisector
of /BAC meets BC in D. Then £ ADB is

e ISt ABC ® 10T B = 35°&IUT C = 65° 3i &I0T
BAC &1 fg¥9sie BC &1 D W faeran & @t &ivt ADB
T ghM?

(a) 40° (b) 75° () 90° (d) 105°

AB is a diameter of a circle . C is a point on the
tangent drawn at A. If AB=8 cm and AC= 6 cm,
then the length of BC is

AB Tt ga &1 =@ 81 A I @i T s wyt
W C U& fog 81 af€ AB=8 @t X AC= 6 @t dt BC
Ht oTETg qATSy ?

(a)10ecm  (b) 14 cm (d) 7 cm

From a point P on a level ground, the angle of
elevation to the top of the tower is 30° . If the
tower is 100 m high, the distance of point P
from the foot of the tower is (Take /3 = 1.73)

forelt waaer gf uX forg P @ WM & vitd U S &1
HIU130° 1 g HAR 100 HeX Heh & @ HAR &
Afag P ol gt o« €At ? ( IE WA g Tw
V3 =1.173)

(a)149m (b)156m  (¢) 173 m (d) 188 m

If the sum of the digits of any integer between
100 and 1000 is subtracted from the same
integer , the resulting number is always
divisible by

afg 100 3 1000 F star Tl quiler & 3l & sitg
@ 3t guies § "ern @ A uRumh weE ghen
frafeafea & @ feed favrsa g?

(a) 2 (b) 5 (c) 6 (d9

If a sum of money deposited in a bank at simple
interest is doubled in 6 years, then after 12
years, the amount will be

(¢) 5 cm

21.

22.

i FIZ G S W WIHUT TS T STAT HIa UL
6 o § gt g W §, @ 12 99 § 98 &9 YT fwadt
a2

(a) 5/2 times the original amount /5/2 o1

(b) 3 times the original amount/3 0N

(c) 7/2 times the original amount/7/2 T

(d) 4 times the original amount/4 U1

Rs 782 is divided into 3 parts in the ratio

wlm
N

1
2’
, the first part is
7szzﬁw@ﬁmwﬁﬁ%=§zgamgmﬁ'
formrer fan STat 8, Ugen Wit @/ ghm?

(a) Rs 182 (b) Rs. 204 (c) Rs. 190 (d) Rs. 196
Number of 5 types of cycles manufactured by a
company over the years is given below :

Tt @t g favra auf 9 fAfifa 5 9r &t aefaa
F1 we frafafaa 21

Types of Cycles (in 1000)
Year | 5 B C D E
1997 200 150 78 90 65
1998 150 180 100 105 70
1999 180 175 92 110 85
2000 195 160 120 125 75
2001 220 185 130 135 80

23.

24.

25.

What was the approximate percentage of
increase in production of 'D' type of the cycle
from 1998-2000

e 1998-2000 & el D TS &t ATSfReN & SARA o
ghg BT AT TA9Td SATST?

(a) 10 (b) 19 (c) 15 (d) 17

In the case of which type of cycles was total
production of the given 5 years the maximum?
fora yR #1 wrsfeel @t feu mu fama 5 auf & e
e Afawan of ?

(a) A (b) B (e C (dD

What was the percentage drop in production of
A type cycle from 1997- 1999 ?

e 1997 ¥ 1999 & " A Y& & ASlEhal & IR
¥ fope whew w g 2

(a) 10 (b) 25 (c) 20 (d) 15

The production of E type of cycle in 2001 was
what percent of production of B type in 2000 ?

E Y&K &t Agfdhell &t a8 2001 &1 3R, B TR
&1 WTEfahel & ad 2000 & 3T &1 fha= gfdavra o ?
(a) 40 (b) 50 (c) 45 (d) 25
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— ANSWER KEY
1. (@) 2. (%) 3. (d) 4. (b) 5. (d) 6. (d) 7. (b) 8. (b) 9.(c) 10. (b)
11. (b) 12. (b)  13.(a)  14. (c) 15. (d)  16.(d)  17.(a)  18. (c) 19. (d)  20. (b)

21. (b) 22.(b) 23.(a) 24.(@  25.(b)
HINT & SOLUTIONS

1. MD, _MjyD, 5. Cp Sp
W, W 4 5
10x 20 = 20 x Dy +1
Dy 10T @)% = L0t 100
- &l (efficiency) & A ? Cp
. TEI 3T (Half) & .
AT = 10/ 5fea 4
2 = 25%
2. B ¥ 6. 25 21
H/
° firTee% = & x 100
25
8 . ° =16%
AAOD H— :
OD + OA > AD @) L 7. 9uw ¥ 61 fato N
AT fepet oft €1 gl <t =i, gden et syon  sreT eran el (91) speed = istance
- Time
AODC H— »
OD +0C > CD ...(i1) - 02
Al+OB> AB ...(av)

OD+0OA+0D+0C+0C+0B+AO+0OB >
>AD+CD+ BC + AB
OD+0B+0A+0C+0D+0B+ 0OA+0C >
AB+ BC +CD+ DA
2(BD+ AC)> AB+ BC +CD + DA
2(AC + BD)> (AB + BC +CD + DA)
None option is correct.

3. x% 3R y% & HAER T
hl
xy
:qam@‘c’( +y- %
1 10007

5 — Ratio of time

4 A B :
3 : 4 Yot gt = =1el x TH 4
3 unit — 36 = 4km/hx 4h
~ 16 km

1 unit — 12
total = 7 unit — 12x 7 = 84.

8. @Cx-92+By-222=0
2x-y=0

, ! 9
AOCB §— !
OC + OB > BC ...(iii) ! @ @
AAOB H— !

2=y
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ZBAC =180-(£ZB+ £C)

ZA+ 2ZC =180° =180 - (35+65)

e =180 - 100
x =30 ] - 80°
4x =304 =120 /BAD = /DAC = ZA/2 = 80/2
=60° = 40°

ZADB =180-(£ZABD + ZBAD)
=180 - (35 + 40)
=180 - 75°=105"

12. cos2 20+ cos270°=1
RASE| A+ B=90°
sl cos2A+cos?2B=1

xJ1 | 13. WHT 9 BE & Ed & B
y 2 i 7 Sl 1 AN + 2 BT 1 = 9 BT I AEH
3y-22=0 i 7 x50+ (x + 50) +(x +90) = 9 x x
8y =2 i 350 + 2 + 140 = 9x
y_2 i Tx = 490
s l x =170
x:y:2=1:2:3 i
' 14. a =101,
9 (4a—3)2:0 i a(a2—3a+3):?
4a-3=0 i a®-3a2+3a=a®-3a%2+3a-1+1
= 4a0-1-2=0 i :(a—1)3+1
Spasa ! ~(101-13 +1
64a> — 4822 +12a+13=0 ! - (100)% +1
(@a-b2=a®-b%-3a%b+3ab2 | = samnoot ]
64a> - 4822 +120+13=(49)3 - 13 - 3(4a)? x1 ! Z 1000001
+3(40)2 +12 |
= (4a-13+14 |15, x=2+3
=23 414=8+14=22 ; , x(x—1+1\
! x“—x+1 _ x
10 , i xTFx+1 x(x+1+1\
&\ 5 3
W 5 i x+—-1
i x+1+1
ZABC = 30° : x
ZACB="? i 1_1  2-43
TSI H S HIOT FHHI i X 2443 2-43
ZBAC = 90° ; _2-43
ZABC = 30° ; 1
ZACB = 180°~(£BAC + LABC) ! x+l_9:3+2-.3
=180 - (90 + 30) ; x
ZACB = 60° | ) =4
T . | el 4o s
F 4 i x+1+1 4+1 5
1 X
5x '
D c | 16.
H D
LA ZB:2C=1:4:5 i
=x :4x : bx i
%ﬁ;ﬁ%ﬁaﬁuﬁﬁa%ﬂq@wﬁmﬁﬂwm; pAE L 0Ac
l !
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17.

@ 0O

AB
<>

T O T 1 hg T—
AC — o9 3@
OA L AC (OA ==
AB L AC
AB AC BC - Triplate
l I &
8 6 10
18.
T B
30° 60° =PB
{ l
100 mtr 1003 mtr
PB = 10043
=100x1.73
=173 mtr.

19. Let, @& = 121
121- (14241 =121-4

=117
117 is divisable by 9.
20. 6 yrs 6 yrs
1?0 S.I. =100 200 S.I. =100 3(%0
3 times

Jak
2

1 : g x12 § x 12
2 3 4

6 : 8 9 = 23 unit
23unit — 782

1 unit — @
23

6 unit ﬁ@x6:204
23

22.

1998-2000

%increase = & % 100%
105

Vi % 100%
21

=19%

23.

A type = 200 + 150 + 180 + 195 + 220 = 945
B type =150 + 180 + 175+ 160 + 185 = 850
C type = 78+ 100 + 92+ 120 + 130 = 520

D type =90+ 105+ 110 + 125+ 135 = 565

E type=65+70+85+75+80 = 375
Maximum production = A type

24.

1997-1999
A type

%decrement = % % 100 = 10% decrea.

25.

E Type Cycle
in 2001
80

B Type Cycle
in 2000
160
80

—— x100% = 50%
160




